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DD–2071 

M. Com. (Final) EXAMINATION, 2020 

(Optional Group—B : Management) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- foŸkh; izcU/k ls vki D;k le>rs gSaa \ ,d o`gn~ laxBu ds foŸk 

izcU/kd ds dk;ks± dh O;k[;k dhft,A 

What do you understand by Financial Management ? 

Discuss the functions of the  Financial Manager of a large 

organisation. 
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vFkokvFkokvFkokvFkok    
(Or) 

ABC dEiuh ,d e’khu Ø; djus dk fopkj dj jgh gSA nks  
e’khussa A rFkk B ftuesa izR;sd dh ykxr ` 50]000 gS]  miyC/k 

gSaA dj ds ckn rFkk kl ds iwoZ vk; dh vk’kk fuEuor~ gS % 

o”kZo”kZo”kZo”kZ    
e’khu e’khu e’khu e’khu A 
(`̀̀̀)    

e’khu e’khu e’khu e’khu B 
(`̀̀̀)    

1 

2 

3 

4 

5 

15,000 

20,000 

25,000 

15,000 

10,000 

5,000 

15,000 

20,000 

30,000 

20,000 

nksuksa fodYiksa dk ewY;kadu dhft, % 

(i) iscSd ihfj;M fof/k ds vuqlkjA 

(ii) vkSlr fofu;ksx izR;k; jhfr ds vuqlkjA 

ABC Company is considering the purchase of a machine. 

Two machines A and B are available each costing 

` 50,000. Earning after taxation and before depreciation 

are expected to be as under : 

Year 
Machine A 

(`̀̀̀) 

Machine B 

(`̀̀̀) 

1 

2 

3 

4 

5 

15,000 

20,000 

25,000 

15,000 

10,000 

5,000 

15,000 

20,000 

30,000 

20,000 

Evaluate the two alternatives according to : 

(i) Payback period method. 

(ii) Average return on investment method. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- iw¡th dh ykxr ds fofHké vax dkSu&ls gSa \ izfr/kkfjr vk; dh 

ykxr D;k gS \ le va’k fuxZeu dh ykxr dSls fu/kkZfjr dh 

tkrh gS \ 

What are the components of cost of capital ? What is the 

cost of retained earning ? How is the cost of new equity 

issues determined ? 

vFkokvFkokvFkokvFkok    

(Or) 

,d dEiuh dk gky gh esa xBu fdlh uohu oLrq ds mRiknu 

gsrq fd;k x;k gSA bldk iw¡th <k¡pk fuEu izdkj gSA iw¡th  

lzksr % 

  ` 

(i) _.ki= 9% 6,00,000 

(ii) iwokZf/kdkj va’k 7% 2,00,000 

(iii) lerk va’k 24000 6,00,000 

(iv) izfr/kkfjr ykHk 4,00,000 

 dqy iw¡th 18,00,000 

dEiuh ds lk/kkj.k va’kksa dk cktkj ewY; ` 40 gSA izcU/kdksa }kjk 

` 4 izfr va’k ykHkka’k izLrkfor fd;k x;k gSA dEiuh ds fy, 

fuxe dj dh nj 50% gS rFkk va’k/kkfj;ksa dk  
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O;fDrxr dj nkf;Ro 25% gSA dEiuh ds fy, iw¡th dh dj 

lfgr Hkkj ;qDr vkSlr ykxr Kkr dhft,A 

A company was recently formed to manufacture a new 

product. Capital sources : 

  ` 

(i) Debenture 9% 6,00,000 

(ii) Preference Share 7% 2,00,000 

(iii) Equity Share 24000 6,00,000 

(iv) Retained earnings 4,00,000 

 Total Capital 18,00,000 

The market price of the equity shares is ` 40. A dividend 

of ` 4 per share is proposed. The company has marginal 

tax rate of 50% and personal tax of shareholders is 25%. 

Compute the after tax weighted average cost of capital for 

the company. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- fuEufyf[kr iwokZuqeku A ,oa B dEifu;ksa ls lEcfU/kr gSa % 

 A B 

mRiknu ,oa fcØh ¼bdkb;k¡½ 40000 50000 

ifjorZu‘khy ykxr izfr bdkbZ 4 3 

LFkk;h ykxr 120000 125000 

_.k ij C;kt izHkkj 60000 25000 

foØ; ewY; izfr bdkbZ 10 8 

mi;qZDRk leadkas ds vk/kkj ij x.kuk dhft, % 
(i) ifjpkyu yhojst 
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(ii) foŸkh; yhojst 
(iii) la;qDr yhojst 
The following projections are related to Companies A 

and B : 

 A B 

Output and Sales (units) 40000 50000 

Variable cost per unit 4 3 

Fixed cost 120000 125000 

Interest Burden on debts 60000 25000 

Selling price per unit 10 8 

On the basis of above data compute : 

(i) Operating Leverage 

(ii) Financial Leverage 

(iii) Combined Leverage 

vFkokvFkokvFkokvFkok    

(Or) 

iw¡th <k¡pk ls vki D;k le>rs gSa \ dc bls vuqdwyre dgk 

tk ldrk gS \ 

What do you mean by Capital Structure ? When should it 

be called optimum ? 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ykHkka’k ds forj.k ls lEcfU/kr ßokYVj dk QkWewZykÞ dh O;k[;k 

dhsft,A Hkkjr esa dEifu;ksa }kjk viukbZ tkus okyh ykHkka’k uhfr 

dks le>us esa ;g QkWewZyk dgk¡ rd lgk;d fl) gqvk \ 
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Explain the “Walter Formula” of dividend distribution. To 

what extent does the formula help in understanding the 

dividend policies pursued by Indian companies ? 

vFkokvFkokvFkokvFkok    
(Or) 

ykHkka’k uhfr;ksas ls D;k vk’k; gS \ ykHkka’k uhfr ds izdkjksa  dk 
o.kZu dhft, ,d vkn’kZ ykHkka’k uhfr ds ykHk crkb,A 

What do you mean by Dividend Policy ? Describe the 

types of dividend policy. State the advantages of an ideal 

dividend policy. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- dk;Z’khy iw¡th iwokZuqeku ls D;k vk’k; gS \ bl izdkj ds 
vuqeku esa iz;qDr fof/k;ksa dh laf{kIr O;k[;k dhft,A 

What is meant by Working Capital Forecast ? Briefly 

explain the techniques used in making such forecast. 

vFkokvFkokvFkokvFkok    
(Or) 

Lda/k izcU/k dk D;k vk’k; gS \  Lda/k izcU/k ds mís’; dk 
o.kZu dhft,A ,d O;kolkf;d izfr”Bku ds fy, ;g D;kas 
vko’;d gS \ 

What is meant by Inventory Management ? Discuss the 

objective of inventory management. Why is it essential to 

a business concern ? 
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